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30

A-2
y = 1.029x
%
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A-3 (kN)
63
5m 15



1 18km335m 2.1 0.5

25-17 12 18km339m 1.9 0.5 88
17 18km332m 1.7 0.5

28-10 22 18km341m 1.6 0.5 .73
24 18km344m 2.0 0.5
8 18km331m 1.8 0.5

28-11 17 18km342m 1.9 0.5 .73
20 18Kkm345m 1.8 0.4
3 18km331m 1.8 0.5

28-14 3 18km333m 1.6 0.5 .74
18 18km348m 1.7 0.5
14 18km330m 1.6 0.5

28-15 13 18km340m 1.8 0.5 .74
12 18km346m 1.8 0.5
4 18km331m 1.5 0.5

28-16 13 18km337m 1.7 0.5 .75
19 18km346m 1.7 0.5
4 18km330m 1.6 0.5
0 18km332m 1.6 0.5
0 18km332m 1.7 0.6
5 18km334m 1.7 0.5
14 18km340m 1.6 0.5
4 18km331m 1.4 0.5

29-13 4 18km334m 1.4 0.5 .83
16 18Kkm345m 1.6 0.5
10 18km331m 1.5 0.5

29-14 8 18km342m 1.7 0.5 83
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